740150 - PORTABLE STEEPLE CHASE BARRIER SET
INSTRUCTIONS

www.gillathletics.com
800-637-3090

The 740150 Portable Steeple Chase Barrier Set consists of four height
adjustable barriers, one 5 meter wide beam and three 4 meter wide beams.

Built in drop down
wheels for transport
Spring loaded pull pin & clamping L7

knobs for height adjustment—/

Each barrier adjusts to three heights; 30, 33, and 36 inches.The
beam is locked in position with a stainless steel spring loaded
pull pin and clamping knobs.

The beams are constructed of 4 inch square extruded aluminum,
covered on three sides with 1/2 inch thick Vultrak track surface.

The leg assemblies are fabricated from 2-1/2 " and 3-1/2" Sch 40
steel pipe with spring assist. The legs are painted with powder

coat for a durable finish.

NCAA compliant and IAAF certified.

6/24/2019

Copyright ©2012 by Gill Athletics. INST740150
All rights reserved. Page 1 of 5



OiLL

www.gillathletics.com
800-637-3090

740150 - PORTABLE STEEPLE CHASE BARRIER SET
INSTRUCTIONS

Steeple Beam
/ (740150XX)
/

R\:%/S" Unistrut Nut

(HDWE030570E0)

©
a0
O

Spring
(74014025)

N

m—

Copyright ©2012 by Gill Athletics.

All rights reserved.

—=—-5/16" Flat Washer

L\(HDWEOSOOZOEO)
3/8"-16 x 1" Hex Bolt
(HDWEO011240E0)

Steeple Chase Upper Leg
(74014020)

Bolt the upper legs to the bottom of the beam in
four places per leg.

Slide the spring into the top of the lower leg.
Make sure the clamping knobs are backed out.

With at least two people, lift the beam and slide
the upper legs onto the lower legs.

Pull the pin out to adjust to the designed height.
Tighten the clamping knobs to secure the beam.

Steeple Chase Lower Leg
(74013530)

6/24/2019
INST740150
Page 2 of 5



740150 - PORTABLE STEEPLE CHASE BARRIER SET
INSTRUCTIONS

OiLL

www.gillathletics.com
800-637-3090

3/8" Unistrut Nut
(HDWEO030570E0)

To bolt the upper legs to the bottom of the beam

@Q_ _ _ _ _ _ _C]@\_ do the following:
Add bolt, washer and unistrut nut to upper leg
@T B B B - - OElé ™™ Use far left and right holes and align unistrut
nuts with each other as shown below.

3/8" Unistrut Nut

| /N

(HDWEO30570E0)
S —5/16" Flat Washer
4 I{\(HDWEOSOOZOEO)

3/8"-16 x 1" Hex Bolt
(HDWEO11240E0)

Steeple Chase Upper Leg
(74014020)

With beam upside down, place
upper leg with hardware onto
beam inserting unistrut nuts into
beam channels (see Fig. 1)

Slide upper leg right next to
rubber patch (6" from beam end)

As bolts are tightened unistrut
nuts will turn (see Fig. 2)

—J]:EL©£I:EL— ] ©

C A [m=s/Au)]

==/ & ——

Figure 1 Figure 2

6/24/2019
Copyright ©2012 by Gill Athletics. INST740150
All rights reserved. Page 30of 5



OiLL

www.gillathletics.com
800-637-3090

740150 - PORTABLE STEEPLE CHASE BARRIER SET

INSTRUCTIONS

* *
@) @ ©® ®
i =U

4

(%
wo
®

Wheels in the up (stationary) position.

To lower the wheels, step on foot pedal (green unlock symbol)

until wheels lock into down position.

5 O
L B i
| i

Wheels in the down (rolling) position.

To retract the wheels, step on foot pedal (red lock symbo¥ %)

until wheels disengage.

Copyright ©2011 by Gill Athletics.
All rights reserved.

6/24/2019
INST740150
Page 4 of 5



740150 - PORTABLE STEEPLE CHASE BARRIER SET

OiLL

INSTRUCTIONS
www.gillathletics.com
800-637-3090
ITEM NO. PART NUMBER Description

1 7401402003 Pull Pin Collar
Cap

2 7401402004 Pull Pin Stud

3 HANDO00088 Ball Knob

4 BUSH00088 Shaft Bushing

5 SPNG00041 Spring

11 7401402005 rev A

1. Press the bushing (BUSHO00088) into the pull pin collar so
that it is flush with the inside wall of the pipe.

2. Slide the spring (SPNG00041) onto the shaft of the pull pin
stud (7401402004). Then slide the pull pin collar cap
(7401402003) onto the pull pin stud. Next screw the knob
(HANDO0O0088) onto the pull pin stud and Loc-Tite the
threads.

3. Screw the pull pin collar cap into the pin collar. Make sure
to Loc-Tite the threads.

A WARNING: This product can expose you to Urethane, which
is known to the State of California to cause cancer and birth
defects or other reproductive harm. For more information go to
www.p65warnings.ca.gov. A

6/24/2019

Copyright ©2011 by Gill Athletics. INST740150
All rights reserved. Page 5 of 5



